Opérations avec deux fractions mixtes (A)

Nom:

10.

Date:

Calculez chaque résultat.

5%—1% =
4sess =
57413 =
S5 +35 =
53425 =
52 _ 51
3
52X 13 =
52422 =
9= =
1%><5% =

Note:
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Opérations avec deux fractions mixtes (A) Réponses

Nom:

10.

Date: Note:
Calculez chaque résultat.
2 2 17 5 12 4
3713 T 373 3 T 1 4
glosd 2.4 _2 8 200 20
6 6 8 6 45 270 27
1 3 21 7 28 7
tl = 4ty 7 T ’
1 7 46 34 80 8
9t =9ty 5 = 9%
3 1 23 5 33 1
Gt T Tt 7 =%
1 17 16 1
3773 5373 3
2 5 17 14 238 22
Xl =3 XGg = 57 T8y
3.,3 _38.2 38 13 494 88
7 " 713 7 13 7 29 203 7203
3 7 43 23 20 5 1
7% T8 % T T 3 23
1 1 7 11 77 5
Ig %53 = gX 7% z -
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